			LLU			ULU			Total	
		Section Count	Enrollment	SCH	Section Count	Enrollment	SCH	Section Count	Enrollment	SCH
Art and Design	HNRS	1	2	6.0		1	3.0	1	3	9.0
Business	HNRS				1	1	3.0	1	1	3.0
Coast and Environment	HNRS				1	1	3.0	1	1	3.0
Honors College	HNRS		1	3.0	1	9	27.0	1	10	30.0
Human Sciences & Education	HNRS				2	2	6.0	2	2	6.0
Humanities and Social Sciences	HNRS	4	8	24.0	3	13	39.0	7	21	63.0
Music and Dramatic Arts	HNRS	1	1	3.0		5	15.0	1	6	18.0
Science	HNRS				3	5	15.0	3	5	15.0
Total		6	12	36.0	11	37	111.0	17	49	147.0

Honors College

RES					LL	U	UI	LU	MAST	ERS	SP	PROF	DOCT	ORAL	TO ⁻	ΓAL	
UNI	T DEPT	CRSE	SEC SES	LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
AP	HNRS	2012	900	EN	3.0	1	3.0	9	27.0							10	30.0
COL	LEGE TOT	AL	1			1	3.0	9	27.0							10	30.0

College of Art and Design

RESP					LL	U	UL	.U	MAST	ERS	SP	PROF	DOCT	ORAL	TOT	AL	
UNIT	DEPT	CRSE	SEC SES	S LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
AP	HNRS	2021	010	EU	3.0	2	6.0	1	3.0							3	9.0
COLL	EGE TOT	AL	1			2	6.0	1	3.0							3	9.0

E.J. Ourso College of Business

RESP					UL	.U	MAST	ERS	SP	PROF	DOCT	ORAL	TOT	ΓAL
UNIT DEPT CF	RSE SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
HNRS 40	000 021	3.0			1	3.0							1	3.0
COLLEGE TOTAL 1					1	3.0							1	3.0

College of the Coast and Environment

RESP					LL	J	UL	U	MAST	ERS	SP	PROF	DOCT	ORAL	TOT	AL	
UNIT	DEPT	CRSE	SEC SES	LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
AP	HNRS	3100	030	EC	1.0- 6.0			1	3.0							1	3.0
COLL	EGE TOT	AL	1					1	3.0							1	3.0

College of Human Sciences & Education

RESP					LL	U	UL	U	MAST	ERS	SP	PROF	DOCT	ORAL	T01	ΓAL
UNIT	DEPT	CRSE	SEC SES LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
	HNRS	3500	050	1.0- 6.0			1	3.0							1	3.0
	HNRS	4000	050	3.0			1	3.0							1	3.0
COLLE	GE TOT	AL	2				2	6.0							2	6.0

College of Humanities and Social Sciences

RESP							LI	_U	U	LU	MAST	ERS	SP	PROF	DOCT	ORAL	TO ⁻	TAL
UNIT	DEPT	CRSE	SEC SES	LOC DELV	CR	ED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
AP	HNRS	2013	060	EU		3.0	2	6.0									2	6.0
AP	HNRS	2030	060	EN		3.0	2	6.0	9	27.0							11	33.0
AP	HNRS	3000	060	PS		3.0	1	3.0									1	3.0
AP	HNRS	3025	060	PS		3.0	1	3.0	1	3.0							2	6.0
AP	HNRS	3025	061	LN		3.0	1	3.0									1	3.0
AP	HNRS	3500	060	EN	1.0-	6.0	1	3.0	2	6.0							3	9.0
	HNRS	4000	060			3.0			1	3.0							1	3.0
COLLE	EGE TOT	ΓAL	7				8	24.0	13	39.0							21	63.0

College of Music and Dramatic Arts

RESP					LL	U	UI	LU	MAST	ERS	SP	PROF	DOCT	ORAL	TOT	ΓAL	
UNIT	DEPT	CRSE	SEC SES	LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
AP	HNRS	2021	080	LN	3.0	1	3.0	5	15.0							6	18.0
COLLEGE TOTAL		1			1	3.0	5	15.0							6	18.0	

College of Science

RESP						L	LU	ι	JLU	MAST	ERS	SP	PROF	DOCT	ORAL	T0	TAL
UNIT	DEPT	CRSE	SEC SES	LOC DELV	CRED	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH	CNT	SCH
AP	HNRS	3035	090	EC	3.0			3	9.0							3	9.0
AP	HNRS	3035	091	LN	3.0			1	3.0							1	3.0
	HNRS	4000	090		3.0			1	3.0							1	3.0
COLLE	GE TOT	AL	3					5	15.0							5	15.0
GRAND	TOTAL		17			12	36.0	37	111.0	0	0.0	0	0.0	0	0.0	49	147.0